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General Instructions :

Read the following instructions very carefully and strictly follow them :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

Section C : Question Numbers 27 to 34 comprises of 8 questions of three
marks each.

Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.

Question numbers 1 to 10 are multiple choice questions.

Choose the correct option.

1.

On dividing a polynomial p(x) by x2 — 4, quotient and remainder are
found to be x and 3 respectively. The polynomial p(x) is

A 3x2+x-12
(B) x3-4x+3
(C) x2+3x-4
(D) x3-4x-3

.30/5/1 | 3 P.T.O.
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(A) AB2=2AC?
(B) BCZ?=2AB2
(C) AC?=2AB2?
(D) AB2 =4AC?

B
= H
C A
SHTHI-1
3.  x-31% W 6 9% foig S (- 4, 0) T (10, 0) & FHGEY 7, % FGzme 8
A (7,0)
B) (5,0
(€ (0,0)
(D) (3,0
rerat
T I & Heg o ek, [Tk Th A % e fog (— 6, 3) 3T (6, 4) 7,
A (8,-1)
B) 4,7
7
(©) (0,5)
7
o (o]
4. ¢ fgamd TR 2x2 + kx + 2 = 0 Y1 @AM &, dl k% AF &
A 4
B) +4
Cc) -4
(D) 0
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2. In Figure-1, ABC is an isosceles triangle, right-angled at C. Therefore
(A) AB?=2AC?
(B) BC?=2AB?
(C) AC?=2AB?
(D) AB?=4AC?

B
- H
C A
Figure-1
3. The point on the x-axis which is equidistant from (- 4, 0) and (10, 0) is
A (7,0)
(B) (5,0
(C) (0,0)
D) G,0)
OR
The centre of a circle whose end points of a diameter are (— 6, 3) and (6, 4)
is
B) 4,7
7
C 0, —
© [o0.7]
7
D 4, —
o (]

4, The value(s) of k for which the quadratic equation 2x2 + kx + 2 = 0 has
equal roots, is

A 4
B) 4
<) -4
D) 0

.30/5/1 | 5 P.T.O.
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(A) -12,08,28,...
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(A) ¥R
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(A)  50°
(B) 40°
(C) 60°
(D)  80°
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5. Which of the following is not an A.P. ?
(A -12,08,28,...
(B) 3,3+v2,3+242,3+3V2,...

4 79 12

(C) a2 a’a’ o 2
333 3
-1 -2 -3

(D) T 0 T o s T o e
5 5 5

6. The pair of linear equations

3x

5 +5?y=7 and 9x + 10y = 14 is

(A) consistent
(B) inconsistent
(C) consistent with one solution

(D) consistent with many solutions

7. In Figure-2, PQ is tangent to the circle with centre at O, at the point B. If
2 AOB = 100°, then £ ABP is equal to

(A)  50°
(B) 40°
(C) 60°
(D)  80°

Figure-2

7 P.T.O.
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A 3
(B) 343
(C) 32/3
D) 31/3

1%|§3ﬁ (m, —n) AT (—m,n)a;aﬁ?[ﬁ@%

(A) m? + n?2

(B) m+n

(C) 2ym?2+n?
(D) w/2m2 + 2n2

10. 3TF-3H, O w5 a1t ga W a1l fog P § 3 TRI@¢ PQ a1 PR @i %
8 | gu 1 B 4 3 R 1 A £ QPR = 90° R, 1 PQ 1 T BT

(A)
(B)
(C)
(D)
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8. The radius of a sphere (in cm) whose volume is 1271 cm3, is
A 3
B) 33
) 3%3
(D) 31/3

9. The distance between the points (m, — n) and (- m, n) is
(A)  ym? +n?

(B) m+n

(C) 2ym?2+n?
(D) w/2m2 + 2n2

10. In Figure-3, from an external point P, two tangents PQ and PR are
drawn to a circle of radius 4 cm with centre O. If £ QPR = 90°, then

length of PQ is
(A) 3cm
(B) 4cm
(C) 2cm
D) 22 cm
Q
}c P
R
Figure-3

.30/5/1 | 9 P.T.O.
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Fill in the blanks in question numbers 11 to 15.

11. The probability of an event that is sure to happen, is

2
12. Simplest form of 1+tan” A is

1+cotZ A

13. AOBC is a rectangle whose three vertices are A(0, —3), O(0, 0) and
B(4, 0). The length of its diagonal is

_ >f.u.
14. In the formula x = a+ # xh, u;=
i

15.  All concentric circles are to each other.
Answer the following question numbers 16 to 20.

16. Find the sum of the first 100 natural numbers.

17. In Figure-4, the angle of elevation of the top of a tower from a point C on

the ground, which is 30 m away from the foot of the tower, is 30°. Find

the height of the tower.
A
30 C
B 30 m
Figure-4

18. The LCM of two numbers is 182 and their HCF is 13. If one of the
numbers is 26, find the other.

11 P.T.O.
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19. Form a quadratic polynomial, the sum and product of whose zeroes are

(= 3) and 2 respectively.
OR

Can (x2 — 1) be a remainder while dividing x* — 3x2 + 5x — 9 by (x2 + 3) ?

Justify your answer with reasons.

20. Evaluate:

2 tan 45° x cos 60°
sin 30°

SECTION B

Question numbers 21 to 26 carry 2 marks each.

21. In the given Figure-5, DE || AC and DF || AE.

Prove that @ = @
FE EC
A
D
B F E C
Figure-5

22. Show that 5 + 2+/7 is an irrational number, where 7 is given to be an
irrational number.

OR

Check whether 12™ can end with the digit 0 for any natural number n.

23. IfA, B and C are interior angles of a A ABC, then show that

w75 3]

13 P.T.O.
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In Figure-6, a quadrilateral ABCD is drawn to circumscribe a circle.

Prove that

AB + CD = BC + AD.

A

Figure-6

OR

In Figure-7, find the perimeter of A ABC, if AP = 12 cm.

Figure-7

Find the mode of the following distribution :

Marks :

0-10

10 -20

20-30

30 - 40

40 - 50

50 - 60

Number of
Students :

4

6

12

2 cubes, each of volume 125 cm3, are joined end to end. Find the surface

area of the resulting cuboid.

15

P.T.O.
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SECTION C

Question numbers 27 to 34 carry 3 marks each.

27. A fraction becomes % when 1 is subtracted from the numerator and it

becomes i when 8 is added to its denominator. Find the fraction.

OR

The present age of a father is three years more than three times the age
of his son. Three years hence the father’s age will be 10 years more than

twice the age of the son. Determine their present ages.

28. Use Euclid Division Lemma to show that the square of any positive
integer is either of the form 3q or 3q + 1 for some integer q.

29. Find the ratio in which the y-axis divides the line segment joining the
points (6, — 4) and (- 2, — 7). Also find the point of intersection.

OR

Show that the points (7, 10), (-2, 5) and (3, —4) are vertices of an
isosceles right triangle.

30. Prove that:

1+sin A
1-sin A

=secA +tan A

31. For an A.P., it is given that the first term (a) = 5, common difference
(d) = 3, and the nt" term (a,) = 50. Find n and sum of first n terms (S ) of

the A.P.

32. Construct a A ABC with sides BC = 6 cm, AB = 5 cm and £ ABC = 60°.

Then construct a triangle whose sides are % of the corresponding sides of

A ABC.
OR

Draw a circle of radius 3-5 cm. Take a point P outside the circle at a
distance of 7 cm from the centre of the circle and construct a pair of
tangents to the circle from that point.

17 P.T.O.
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33.

34.

Read the following passage and answer the questions given at the end :
Diwali Fair

A game in a booth at a Diwali Fair involves using a spinner first. Then, if
the spinner stops on an even number, the player is allowed to pick a
marble from a bag. The spinner and the marbles in the bag are
represented in Figure-8.

Prizes are given, when a black marble is picked. Shweta plays the game
once.

Figure-8

1) What is the probability that she will be allowed to pick a marble
from the bag ?

(i1)  Suppose she is allowed to pick a marble from the bag, what is the
probability of getting a prize, when it is given that the bag contains
20 balls out of which 6 are black ?

In Figure-9, a square OPQR is inscribed in a quadrant OAQB of a circle.
If the radius of circle is 6+/2 cm, find the area of the shaded region.

B
R Q
0 P A
Figure-9

gﬁ
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SECTION D

Question numbers 35 to 40 carry 4 marks each.

35. Obtain other zeroes of the polynomial
px)=2x*—x3-11x2 +5x + 5
if two of its zeroes are +/5 and — /5.
OR

What minimum must be added to 2x3 — 3x2 + 6x + 7 so that the resulting
polynomial will be divisible by x2 — 4x + 8 ?

36. Prove that the ratio of the areas of two similar triangles is equal to the

square of the ratio of their corresponding sides.

37. Sum of the areas of two squares is 544 m?2. If the difference of their

perimeters is 32 m, find the sides of the two squares.

OR

A motorboat whose speed is 18 km/h in still water takes 1 hour more to
go 24 km upstream than to return downstream to the same spot. Find the
speed of the stream.

38. A solid toy is in the form of a hemisphere surmounted by a right circular
cone of same radius. The height of the cone is 10 cm and the radius of the

base is 7 cm. Determine the volume of the toy. Also find the area of the

coloured sheet required to cover the toy. (Use nn = % and /149 =12-2)

39. A statue 1-6 m tall, stands on the top of a pedestal. From a point on the
ground, the angle of elevation of the top of the statue is 60° and from the

same point the angle of elevation of the top of the pedestal is 45°. Find
the height of the pedestal. (Use +/3 = 1-73)

21 P.T.O.
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]
40. For the following data, draw a ‘less than’ ogive and hence find the median

of the distribution.

P-xge 0-10| 10-20 |[20-30|30—-40|40-50|50-60|60—-"70
(in years) :

Number of | ¢ 15 20 25 15 11 9
perSOﬂS .

OR

The distribution given below shows the number of wickets taken by
bowlers in one-day cricket matches. Find the mean and the median of the
number of wickets taken.

Npmber of 20 -60|60 —100|100 — 140|140 — 180|180 — 220{220 — 260
wickets :

Numberof | 7 5 16 12 2 3
bowlers :

23
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(i)

(ii)
(iii)
(iv)
(v)
(vi)

(vii)

I8 J97-97 °R @S] § [@91f5d 1397 T 8 — &, @, Td g | 59 §9-99 7
40 357 & | gt 3o7 srfdar & |

&UE & H Y97 G&I7 1 & 20 7% 20 97 & U Y Y97 Uk 37 F 8 |
U @& § Y97 G671 21 G 26 TF 6 Y97 & UF b 97 3T 3Bl FT 5 |
&g T § Y97 G847 27 G 34 7% 8 ¥97 & UF Ycdh Yo7 A4 3H F 8 |

QUE T § Y97 TG&IT 35 @ 40 TF 6 I97 & U Jedh Y97 o 3HH] F71 8 |

Yo7-957 H GHT T HI3 G T8 8 | d9I4 TH-Uh e aie ¢ 99 H, @-g1
37H1 FIct gl FoAT 3, di7-dT 3l arct T Ie1 7, TR-TR bl qiet T g
7 S7aRe fashey 7w 7@ & | 07 o1 7 SacT Th &7 fasheq &7 I o7& |

3% AR, JEFIHATIR, T4H GUE 3N Jo7 & Grd Jelfaa 1997 137 77
g1

(viii) FTPAX B I FH SFHT TG E |

@ vusg <h

J97 G&IT 1 G20 T Jedb J97 1 37k HT & |

o7 G&T 1 @ 10 % Fglasediq Jo7 & |

g8l fashey ghT |

1.

Ffe Tgamd TR 2x2 + kx + 2 = 0 4ol §9M @i, a1 k1 AF &
A 4

B t4
Cc -4
D) 0
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(V)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

Section C : Question Numbers 27 to 34 comprises of 8 questions of three
marks each.

Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.

Question numbers 1 to 10 are multiple choice questions.

Choose the correct option.

1.

The value(s) of k for which the quadratic equation 2x2 + kx + 2 = 0 has
equal roots, is

A 4
B *4
< -4
D) 0

.30/5/2 3 P.T.O.



2. fafafea & 9 w9 gara o< 787 8 2
(A) -1-2,08,28,...
(B) 3,3+v2,3+242,3+342, ...

4 7 9 12
(C) Al adad o o

3 3 3 3

-1 -2 -3
D s T = )
D) 5 5 5

3. 3MPd-1H, O %3 a1t g W ara foig P 8 3 wwi-t@ PQ d1 PR ©i= T3
g | g9 H Broem 43 B 1 I £ QPR = 90° 8, A PQ 1 wEE Bl

(A) 3af
(B) 49
(C) 2uH
(D) 2J2 Tt

-1

4. %@C’Fﬁ (m,—n)ﬁ%(—m,n)ﬁ;aﬁﬁﬁﬁaﬁ%

(A) m? +n?2

(B) m+n

(C) 2ym? +n?

D) 2m? + 2n?2

1.30/5/2 4
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2. Which of the following is not an A.P. ?
(A) -12,08,28,...
(B) 3,3+v2,3+242,3+3V2,...

4 7 9 12
(C) Al adad o o
3’33 3
-1 -2 -3
D —_— L, —, .
D) 5 55
3. In Figure-1, from an external point P, two tangents PQ and PR are
drawn to a circle of radius 4 cm with centre O. If £ QPR = 90°, then
length of PQ is
(A) 3cm
B) 4cm
(C) 2cm
D) 22 cm
Q
}c p
R
Figure-1
4, The distance between the points (m, — n) and (- m, n) is

(A) \/mz +n?

(B) m+n

(C) 2Jm? +n?

D) 2m? + 2n?2

.30/5/2 5 P.T.O.



5.  UH 9gUe ek I had — 3 TAT 48, i 91 @

A 2
B 1
(C) 39 Aferh
D) 3
6.  3Pd-2 4, ABC Teh HHlgaTg dHehivl Y 8 fordept @Heniol CW 2 | 374
(A) AB?=2AC?
(B) BC?=2AB?
(C) AC?=2AB?2
(D)  AB?=4AC?
B
3 H
C A
STpi-2
7. x-318 W @ 98 160G S (- 4, 0) AT (10, 0) & HHGEY g, o e &
4 (7,0
B) (5,0
© (0,0)
D)  G,0

AT

Th I o g o He3Ieh, T8 T AE & 37 675 (- 6, 3) 3N (6, 4) 7, B

(A)
(B)

(&)
(D)

1.30/5/2

(8,-1)
4,7
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The degree of polynomial having zeroes — 3 and 4 only is

A 2

B 1
(C) more than 3
D) 3

In Figure-2, ABC is an isosceles triangle, right-angled at C. Therefore
(A) AB?=2AC?
(B) BCZ=2AB?2
(C) AC?=2AB?2
(D) ABZ2=4AC?
B

G H A

Figure-2
The point on the x-axis which is equidistant from (- 4, 0) and (10, 0) is
A (7,0

B) (5,0)
© (0,0
D) (3,0

OR

The centre of a circle whose end points of a diameter are (— 6, 3) and (6, 4)
is

A 6,-1
B) 4,7
7
€ (O, 5)
7
o (4])

gﬁ

.30/5/2 7 P.T.O.



8.  ifRg® vl 3?X+5?y=7 qAT 9x + 10y = 14 1 JH

(A) E 7

(B) TG 7

(C) @ma B qn fad wh g B
(D) A § AT I BA &

9. IPd-3 H, O %5 a1 g W, fo9g B W w@it@ PQ ©i=h 7§ 7 | 3l
2 AOB = 100° 8, @ ~ ABP XX 2

(A)  50°
(B) 40°
(C) 60°
(D)  80°

STHIT-3
10.  12x 99 9t TRGH a7 M St B (|t H) 2
A 3
(B) 348
© 33
D) 313

1.30/5/2 8
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10.

The pair of linear equations

(A)
(B)
(®)
D)

3—X+5—y:7 and 9x + 10y = 14 is
2 3

consistent

inconsistent

consistent with one solution

consistent with many solutions

gﬁ

In Figure-3, PQ is tangent to the circle with centre at O, at the point B. If
2 AOB = 100°, then £ ABP is equal to

(A)
(B)
(®)
(D)

The radius of a sphere (in cm) whose volume is 12n cm3, is

(A)
(B)
(©)

(D)

50°
40°
60°
80°

Figure-3

3
343

32/3

31/3

P.T.O.



J97 G&IT 11 & 15 7 R7p €917 9RT |

11.

12.

13.

14.

15.

AOBC T% 31d & &k o 3fi-fag A0, — 8), 0(0, 0) W@ B(4, 0) § | 38%
foreput <1 cvaTs 2|

- 2f;u; S
T x = a+[z—f}<h H, u; =

i

Toft Tehegl o T ld 2 |
T THfzera g arefl gean b wiResd Bl 8 |
TTATH ®9 H (1 — cos2 A) (1 + cot? A) = 2

J97 G&I7 16 & 20 7 [efeifEaa & v dfaw |

16.

17.

18.

19.

@l g3 1 A.9. (LCM) 182 @ a7 39! 1.9, (HCF) 13 2 | fe us g&n

26 7, Al g AT FA HIWT |

T fgumd sgug T <hife fomeh [kl o1 INTh a1 UH®S AT (— 3)
qq2F |

AT

w1 qg W9 8 T wgae x* - 8x2 + 5x — 9 I (x2 + 3) W fawiford 0 W
ATHA (x2 — 1) B ? Y IR <l HRU ST |

TH 100 YTehd HEATT T INTHA 1A HINT |
HH 1 HIRT

2 sec 30° x tan 60°

1.30/5/2 10
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Fill in the blanks in question numbers 11 to 15.

11. AOBC is a rectangle whose three vertices are A(0, —3), O(0, 0) and
B(4, 0). The length of its diagonal is

_ >f.u.
12. Inthe formula x = a+ # xh, u;=
i

13.  All concentric circles are to each other.
14. The probability of an event that is sure to happen, is
15. Simplest form of (1 — cos? A) (1 + cot2 A) is

Answer the following question numbers 16 to 20.

16. The LCM of two numbers is 182 and their HCF is 13. If one of the

numbers is 26, find the other.

17. Form a quadratic polynomial, the sum and product of whose zeroes are

(= 3) and 2 respectively.
OR

Can (x2 — 1) be a remainder while dividing x* — 3x2 + 5x — 9 by (x2 + 3) ?

Justify your answer with reasons.

18. Find the sum of the first 100 natural numbers.

19. Evaluate:
2 sec 30° x tan 60°

11 P.T.O.



20. 3Tld-4 H, YH % Tk fog C &, S MR & wg-fog @ 30 . F 7, T HHR
o TIREX &1 3999 $iv1 30° 7 | HHR i S=18 F1d hifS |

A

30°

B 30 .
HTHlad-4

Qs @

T97 G&IT 21 G 26 T 9% J97 2 37H] FT & /

21. TwfaRgd siea =1 sgas Ad HIf

TeAT 0-10]10-20|20-30 | 30-40 | 40-50 | 50-60

BEI hl FE&T - 4 6 7 12 5 6

22. 3Td-5H, Th I % TN Tk 9gysl ABCD @i=n T 7 | frg shifsm
AB + CD = BC + AD.
A

HAAT

1.30/5/2 12
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20. In Figure-4, the angle of elevation of the top of a tower from a point C on
the ground, which is 30 m away from the foot of the tower, is 30°. Find

the height of the tower.
A
B 30 m N ¢
Figure-4
SECTION B

Question numbers 21 to 26 carry 2 marks each.

21. Find the mode of the following distribution :

Marks : 0-10|10-20|20-30| 30-40 | 40-50 | 50 -60

Number of 4 6 7 12 5 6
Students :

22. In Figure-5, a quadrilateral ABCD is drawn to circumscribe a circle.
Prove that

AB + CD =BC + AD.

A

Figure-5

OR

13 P.T.O.



3THd-6 H, A ABC %l IRHTT F1d hIWT, a7 AP = 1289 2 |

3TFHIT-6
23. 10 THI ST ATl Teh 3 T & 2 HHY ST Tt fehdH B ST ST Ehd & ?
24. @ 7E aMepfa-7H, DE | ACR @1 DF | AE R | frg <hifvre fo5

BF _BE
FE EC’
A
D
B F E C
STHIA-7

25. <cuisy o TEd 5 + 27 UH Uiy de B, & fem mn o R V7w
YT & B |
STt
St HNT fop o= fpel TThd §&AT n % AU, &A1 127 37 0 W §HT &
Gohel & |

26. 3Ifc A, B aa C fHl AABC & 3faftss v g, o fag hifsw f&
cot(B;Cj=tan(%).

1.30/5/2 14
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In Figure-6, find the perimeter of A ABC, if AP = 12 cm.

Figure-6

23. How many cubes of side 2 cm can be made from a solid cube of side
10 cm ?

24. In the given Figure-7, DE || AC and DF || AE.

Prove that @ = @
FE EC
A
D
B F E C
Figure-7

25. Show that 5 + 24/7 is an irrational number, where /7 is given to be an
irrational number.

OR

Check whether 12" can end with the digit 0 for any natural number n.

26. IfA, B and C are interior angles of a A ABC, then show that

cot (B_+C) =tan (é)
2 2

15 P.T.O.



Qus

J97 G&IT 27 G 34 TF Jodb J97 3 3hl HT & |

27.

28.

29.

30.

3THI-8 H, Th I 1 IqA™ OAQB % IHAId T &1 OPQR &1 g7 7 | ARG
a6 Brsan 642 Tt 71, O S T 1 &G 14 ShITT |

B
R Q
0 P A

SATFIT-8
Th A ABC i w1 it fweht yemd BC = 6 @, AB = 5 @t qen
ZABC = 60° % | Tt s W@ fayqa ft w1 fifve et qemd A ABC i
I:iﬂagmaﬁa?r%ﬂ:ﬁﬁl
AT

3-5 G Brsan 1 T 9 G | g9 % g & 7 & 1 gl W foret @ fog P
¥ 39 g9 W g TRi@rsdi hl A1 i |

forg =hifo fop

2 cos> 0 —
cos” O CO?S’e:cote

sin O — 2sin” 0

e frt Mk s H § 1mmﬁﬁa%s‘raﬁ%amsa%aﬁ8

S w e @ S & 1 foe i )

Frorat
T T sht I T, 10 G T g b A T T o o arferes B | i o
% wTg fyar i oY g Y Y Wk g | 10 A9 31fYe Bft | IR adEE o1y
ST SHIT |
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SECTION C
Question numbers 27 to 34 carry 3 marks each.

27. In Figure-8, a square OPQR is inscribed in a quadrant OAQB of a circle.
If the radius of circle is 6+/2 cm, find the area of the shaded region.

B
R Q
0 P A

Figure-8

28. Construct a A ABC with sides BC = 6 cm, AB = 5 ¢cm and £ ABC = 60°.

Then construct a triangle whose sides are % of the corresponding sides of

A ABC.
OR

Draw a circle of radius 3-5 cm. Take a point P outside the circle at a
distance of 7 cm from the centre of the circle and construct a pair of
tangents to the circle from that point.

29. Prove that:

2cos3€)—cos 0

=cot O
sin 0 — 2 sin3 0

30. A fraction becomes % when 1 is subtracted from the numerator and it

becomes 1 when 8 is added to its denominator. Find the fraction.

OR

The present age of a father is three years more than three times the age
of his son. Three years hence the father’s age will be 10 years more than
twice the age of the son. Determine their present ages.

17 P.T.O.




31.

32.

33.

34.

fefeTs Uerliften 1 T < B 9 T 9 HEA [ Hiw fEd 870 30
258 =i fawrfoa &t T g feufa # swha 3 o &t |

fagatl (6, —4) T (=2, —7) I S a1 [WHES Hl y-31& fhE @ H
famfor st 2 2 39 wfteag fog & fgemes ot sma i |
tera
;ﬂ%@%ﬁgw, 10), (2, 5) AT (3, — 4) Teh HHIGSTE FHhRIU st o 3fd-foig
|
T TR Al | e e R 69U ug (a) = 54, 9 @ (d) = — 3 AT nal
UG (a,) = 08 | 36 HHIR 21&! 1 n qAT YUH n &1 1 AMTHA (S,) T HIRT |

frafefaa s1g=se 1 yest 31d | fou Uyl & S @R

feareht wemn

fearet 7t % T q¥ % UH WA H UgA Teh OO h1 FAN TR Srm @ 3R
3G ¥T¢ I TOR T OH &I W ThdT 7, dl RISl <l Tk 9 § ¥ Th
el g fean Sar 2 | fE qen 97 # e @ T oTeh{d-9 W femmu M
Ife Tt T HT el AT 01 7, df W GU A & | vod1 T 9R T Qe
7l

(i)  WTRehal &1 g Toh 39 o991 § & Shal I TSI ST 2

(i) O 3 oA B | a1 g4 T S g, A 3ok S UM Sl TRk
F g, 9e fenm g fob I § 20 & o0 @ 6 F1d § 2
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31.

32.

33.

34.

Using Euclid’s Algorithm, find the largest number which divides 870 and
258 leaving remainder 3 in each case.

Find the ratio in which the y-axis divides the line segment joining the
points (6, — 4) and (- 2, — 7). Also find the point of intersection.

OR

Show that the points (7, 10), (-2, 5) and (3, —4) are vertices of an
isosceles right triangle.

In an A.P. given that the first term (a) = 54, the common difference
(d) = — 3 and the ntP term (a,) = 0, find n and the sum of first n terms (S )

of the A.P.

Read the following passage and answer the questions given at the end :
Diwali Fair

A game in a booth at a Diwali Fair involves using a spinner first. Then, if
the spinner stops on an even number, the player is allowed to pick a

marble from a bag. The spinner and the marbles in the bag are
represented in Figure-9.

Prizes are given, when a black marble is picked. Shweta plays the game
once.

Figure-9

) What is the probability that she will be allowed to pick a marble
from the bag ?

(i1)  Suppose she is allowed to pick a marble from the bag, what is the
probability of getting a prize, when it is given that the bag contains
20 balls out of which 6 are black ?

gﬁ

19 P.T.O.
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J97 G&IT 35 G 40 TF Jcdb J97 4 37h] FT & |

35.

36.

37.

2 T o AABA! T INTHA 544 1 Hl, 3 | Ife 3Tk AT § 32 Y. AT A=
1, A GHI STl <l YSITE S1d hIT |

HAAT

T Hiewe, fmeht feer Sta 8 =ma 18 fordfi/aen 7, 24 foprft e 6 wfiepa S
H, 98 g 9T % 3 T hHl U 1 HeT A(Gh Al 8 | 9/ H = [
i |

T 319 RaaiHr 7 9t YR BIsA1 9l U T -geiid Wid o SR I @ Sl
3 B At T e W AAniiud ® | afe i H Sars 10 @t @,
Tael= =1 1ae T hIfT | 3| T SATe 1 &t off sTa Hifere faw 3a
fRaehy # T 7@ & b1 1 T | (n = %agn V149 = 12-2 T Hifvr)

frafafiaa 3tfehel & T @ 0 TR o1 9o iU | 37q: s &1 71

I hIfST |

gﬁ

o~ 0-10]10-20|{20-30|30-4040-50|50-60|60-"70
[ <l
. 5 15 20 25 15 11 9
qe1 :
HAYAT

fra fean T e ues-feawg fohehe O °, Testsn g fow u faekel it T
AT & | ToIQ U forenel bl T%aT 1 HIEY 9o HIegeh [1d hile |

faekel <t
. 20 — 60 |60 — 100 [100 — 140|140 — 180|180 — 220|220 — 260

qeqT

TigaTstt 61

qeT1 .
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SECTION D

Question numbers 35 to 40 carry 4 marks each.

35.

36.

37.

Sum of the areas of two squares is 544 m?2. If the difference of their

perimeters is 32 m, find the sides of the two squares.

OR

A motorboat whose speed is 18 km/h in still water takes 1 hour more to
go 24 km upstream than to return downstream to the same spot. Find the
speed of the stream.

A solid toy is in the form of a hemisphere surmounted by a right circular
cone of same radius. The height of the cone is 10 cm and the radius of the

base is 7 cm. Determine the volume of the toy. Also find the area of the

coloured sheet required to cover the toy. (Use & = % and V149 = 12-2)

For the following data, draw a ‘less than’ ogive and hence find the median
of the distribution.

gﬁ

Age
(in years) :

0-10]10-20|{20-30|30-4040-50|50-60|60-"70

Numberof | 15 20 925 15 11 9
persons .

OR

The distribution given below shows the number of wickets taken by
bowlers in one-day cricket matches. Find the mean and the median of the
number of wickets taken.

Npmber of 20 -60|{60—-100{100 — 140|140 — 180(180 — 220(220 — 260
wickets :

Number of 7 5 16 19 9 3
bowlers :

21 P.T.O.



38. i % UH fug ¥ wH 20 Hl. F9 WA % Rrew | Al vk FER HA9R F qd
M e o ITIT HI HHA;M: 45° AT 60° 3 | HAR hl F=E FJ1d hIfST |
(V3 =173 7T hHifsw)

39. fag VT for v auenior frgst § ol 1 v =1 < el & o W INTHA
% S BT 8 |

40. 99 p(x) = 2x* —x3 — 11x2 + 5x + 5% 3 H 5 qA1 - J5 & | 39 @G
% 3 3 IS T HIFAC |

AT

UG 2x5 — 3x2 + 6x + 7 H HH-H-HH &1 SN A o Ued 15U x2 — 4x + 8
H quidan fawiia & S 2

300502 3
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38.

39.

40.

From a point on the ground, the angles of elevation of the bottom and the
top of a transmission tower fixed at the top of a 20 m high building are
45° and 60° respectively. Find the height of the tower. (Use V3 =1-73)

Prove that in a right-angled triangle, the square of the hypotenuse is
equal to the sum of the squares of other two sides.

Obtain other zeroes of the polynomial
p(x)=2x*—x3-11x2 + 5x + 5
if two of its zeroes are +/5 and — /5.
OR

What minimum must be added to 2x3 — 3x2 + 6x + 7 so that the resulting
polynomial will be divisible by x2 — 4x + 8 ?

23
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)
(v)

(vi)

(vii)

This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

Section C : Question Numbers 27 to 34 comprises of 8 questions of three
marks each.

Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.

Question numbers 1 to 10 are multiple choice questions.

Choose the correct option.

1.

The value(s) of k for which the quadratic equation 2x2 + kx + 2 = 0 has
equal roots, is

A 4
B) *4
Cc -4
(D) 0

Which of the following is not an A.P. ?
(A) -12,08,28, ...
(B) 3,3+42,3+2+2,3+32, ...

4 7 9 12
(C) Dl a’a’ a0
33 3 3
-1 -2 -3
D —_— .
D) 5 5 5

3 P.T.O.



127 &9 It ARG aret et i B (enf ) 2

A 3
(B) 343
(C) 32/3
D) 31/3

1%|§3ﬁ (m, —n) AT (—m,n)a;aﬁ?[ﬁ@%

(A) m? + n?2

(B) m+n

(C) 2ym?2+n?
(D) w/2m2 + 2n2

HAHI-1 1, O %3 a1l Id W 91al f9g P & & TRi@d PQ d«1 PR @i T8
8 | gu 1 B 4 3 R 1 A £ QPR = 90° R, 1 PQ 1 T BT

(A)
(B)
(C)
(D)
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3. The radius of a sphere (in cm) whose volume is 1271 cm3, is
A 3
(B) 343
) 3%3
(D) 31/3

4, The distance between the points (m, — n) and (- m, n) is
(A) m? +n?

(D) \/2m2 +2n2

5. In Figure-1, from an external point P, two tangents PQ and PR are
drawn to a circle of radius 4 cm with centre O. If £ QPR = 90°, then
length of PQ is
(A) 3cm
B) 4cm
(C) 2cm
(D) 2V2 em

Q
}c p
R
Figure-1

.30/5/3 | 5 P.T.O.



FZIE p(x) I x2 — 4 F fawTia T | 9FTHA o1 ATFA A x AT 3 T
T | §EYE p(x) B

(A 3x2+x-12

B) x3-4x+3

C) x2+3x-4

(D) =x3-4x-3

a@ﬁf-zﬁ,DE||BC%Iaﬁ@=§H$TAE=2'7@1ﬁ%,FﬁECW%
DB 2

(A)  2-0 9wt

(B) 1-8%H
(C) 409
(D) 2.7 5
A
7 E
B C
STTHIT-2

x-3181 T fed o foig A1 (- 4, 0) A1 (10, 0) H HHGE B, & Fder &
A (7,0

B) (5,0)
(C) (0,0
D)  G,0

3HUAT
Th I o g o He3reh, TiHeh T =418 o 31 g (- 6, 3) 3N (6, 4) 7, B
A (8,-1)

B @7
7

© (o, 5)
7

(D) (4, 5}

1.30/5/3 6
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6. On dividing a polynomial p(x) by x2 — 4, quotient and remainder are

found to be x and 3 respectively. The polynomial p(x) is
(A  3xZ+x-12

(B) x3-4x+3

(C) x2+3x-4

D) x3-4x-3

7. In Figure-2, DE || BC. If % =g and AE = 2:7 cm, then EC is equal to
(A)  2:0cm
(B) 1-8cm
(C) 40cm
(D) 2:7cm

A

N
D E

¢

C
Figure-2
8. The point on the x-axis which is equidistant from (- 4, 0) and (10, 0) is
A (7,0)
B) (5,0
(C) (0,0)
D) G,0)
OR

The centre of a circle whose end points of a diameter are (— 6, 3) and (6, 4)
is
(B) (4,7)

7
C 0, —
o (o)

7
D 4, —
o (]

.30/5/3 | 7 P.T.O.



10.

11.

12.

13.

14.

15.

gﬁ

Mg geftentomt 3?X+5?y=7 qol 9x + 10y = 14 1 JH

(A) @R

(B) 37ETd ®

(C) E7d g a1 % uh 7 2
(D) E7Td ® q9UT I BA &

AFA-3 H, O g a1 g0 W, g B W T@i-{@ PQ Ti=h 7§ 7 | 3k
Z AOB = 100° %, d@ ~ ABP X 2

(A)  50°
(B)  40°
(C) 60°
(D)  80°

3THIA-3

J97 G&IT 11 & 15 7 R7h &7 9RT |

= 2|
Ife foret T2 E & =fdd 814 shl TRehdt 0-023 8, @ P(E) = |

2
¥ 1+tan“ A

AAqH ¥ 2
1+cot“ A

¥} bl I TWER Bd 8 |
T THfTera g arefl =ean i IiResd B2 |

AOBC T 3TRd g &k o 3f¥-feg A0, — 3), 0(0, 0) T B(4, 0) & | 39
Tt <t e 2 |

1.30/5/3 8
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9. The pair of linear equations

3x
2

(A) consistent

+5?y:7 and 9x + 10y = 14 is

(B) inconsistent
(C) consistent with one solution

(D)  consistent with many solutions

10. In Figure-3, PQ is tangent to the circle with centre at O, at the point B. If
< AOB = 100°, then £ ABP is equal to

(A)  50°
(B)  40°
(C) 60°
(D) 80°

Figure-3

Fill in the blanks in question numbers 11 to 15.

2
11. Simplest form of 1+tan” A is

1+cot? A

12. If the probability of an event E happening is 0023, then
P(E) =
13. All concentric circles are to each other.

14. The probability of an event that is sure to happen, is

15. AOBC is a rectangle whose three vertices are A(0, —3), O(0, 0) and
B(4, 0). The length of its diagonal is

9 P.T.O.



J97 &7 16 & 20 7 [A=fcifgad & 3w v |

16. sin2 30° + cos2 60° &I 99 faifEu |

17. U fgam sg9g a0 VT M8 I H1 AMEA A1 %A HAT: (- 3)
qA 27 |

AT

T IE G99 2 o 9898 x* - 3x2 + 5x — 9 I (x2 + 3) ¥ T +1 W
ATHA (x2 - 1) Bl ? I IR HI HRU ST |

18. T 100 TThd TEATSTT I ANTHA A I |

19. < SIS *l @.9. (LCM) 182 T 39k H.9. (HCF) 13 7 | Ife T T

26 %, 1 gadl wEA A HifT |

20. 3TH(d-4 H, YH % TH fog C ¥, S HAR % Te-fog ¥ 30 H. G 7, TH HAAR
o TIRE &1 399 0T 30° 7 | HIAR ki S=1E 314 hifT |

A

30°

B 30 .
ST A4
WUE G

J97 G&IT 21 & 26 T T4 J97 2 3hl HT & |

21. UH WP A Th o hl BISAT GUH § T T hl HaTs da hl SaTs hi
T T ] | Sk AT T STIUTA [T HITT |
1.30/5/3 10
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Answer the following question numbers 16 to 20.

16. Write the value of sin? 30° + cos? 60°.

17. Form a quadratic polynomial, the sum and product of whose zeroes are

(= 3) and 2 respectively.
OR

Can (x2 — 1) be a remainder while dividing x* — 3x2 + 5x — 9 by (x2 + 3) ?

Justify your answer with reasons.
18. Find the sum of the first 100 natural numbers.

19. The LCM of two numbers is 182 and their HCF is 13. If one of the
numbers is 26, find the other.

20. In Figure-4, the angle of elevation of the top of a tower from a point C on

the ground, which is 30 m away from the foot of the tower, is 30°. Find

the height of the tower.
A
30 C
B 30 m
Figure-4
SECTION B

Question numbers 21 to 26 carry 2 marks each.

21. A cone and a cylinder have the same radii but the height of the cone is

3 times that of the cylinder. Find the ratio of their volumes.

11 P.T.O.



22. IHfI-5H, Th I o 90T Tk 9gyst ABCD ©i=n M1 = | fg i foh

AB + CD =BC + AD.

A

HTHIA-5

AT

HH(d-6 H, A ABC =l U F1d HIST, Ffe AP = 12 9+ 2 |

o o N

23. B INILCH| Cre e sigeien Ald I

TCdTeh 0-10| 10-20

20-30

30 -40

40 - 50

50 — 60

IETH EE | 4 6

12

1.30/5/3
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23.
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In Figure-5, a quadrilateral ABCD is drawn to circumscribe a circle.

Prove that

AB + CD = BC + AD.

A

Figure-5

OR

In Figure-6, find the perimeter of A ABC, if AP = 12 cm.

Figure-6

Find the mode of the following distribution :

Marks :

0-10

10 - 20

20-30

30 -40

40 - 50

50 - 60

Number of

Students :

12

13

P.T.O.



24.

25.

26.

gﬁ

-7 #, IR PQ | BC T PR | CD 3, d fug Hifr % g_g:i_g.

B

A C
\R</
D

STTHIA-7

Tuisy fop T 5 + 247 U iy wew ®, & fewm mn g R V7
AT T B

AT

Sita HT fop o= fopel wTha &A1 n % faU, @ 12° 31 0 W §H &
Tt 7 |

Ife A, Baam C foreft A ABC & 3Taitss 10T 8, a1 g hifse i

(B +C) . (AJ
cos =sin | — [.
2 2

Qus

J97 G&IT 27 & 34 TF Jod% J97 3 3] F71 8 |

27.

28.

29.

foag shifsre o -

(sin 0 — cos? 0 + 1) cosec? 0 = 2
INTHA T HIT
(-5)+(=8) +(—11) + ... + (= 230)

Th A ABC 1 w1 Hifvu feht Yemd BC = 6 o, AB = 5 &t qen
ZABC = 60° 8 | it ush W@ frqet it w1 hifsig fmeht yoid A ABC 1

wWaﬁaﬁf%ﬂ:ﬁﬁl
3AUAT

1.30/5/3 14
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24, In Figure-7, if PQ || BC and PR || CD, prove that QB = DR .
AQ AR
B
Q
A P C
\R</
D
Figure-7

25. Show that 5 + 247 is an irrational number, where /7 is given to be an
irrational number.

OR

Check whether 12" can end with the digit 0 for any natural number n.

26. IfA, B and C are interior angles of a A ABC, then show that

(B +Cj ) (AJ
cos =sin | — |.
2 2

SECTION C

Question numbers 27 to 34 carry 3 marks each.

27. Prove that:
(sin% 0 — cos? 0 + 1) cosec2 0 =2

28. Find the sum:
(=5)+ (=8 +(=11) + ... + (— 230)
29. Construct a A ABC with sides BC = 6 cm, AB =5 ¢cm and £ ABC = 60°.
Then construct a triangle whose sides are % of the corresponding sides of

A ABC.
OR

15 P.T.O.



30.

31.

3-5 Gl B33 1 U 9 W= | 91 o hg @ 7§ hT g W Rt amey fog P
¥ 38 g9 R 3 TRiXEred @ AR |

3-8 H, ABCD T HAT-I IqHS 2 | Y1 AB %I =™ a1 fag O &l g
HMd BT Th el @ien 1 8 S D ¥ Fe ToRAT 8 | AfG AB = 12 81 qen
OD L AB 8, a1 Sifehd 9T s SABS A I | (7 = 3-14 T Hifw)

D C

—

A O B
STTFHIT-8
frafefed 3g=ag 1 Yest o7d | fu U yei & 3w i

feaTeft gemn

fearehl o1 & UH 9¥ % TH @A § Ug Tk A 1 T foR S 7 ek
3 ¥1¢ I TOR T o9 &I W ThdT 7, d RadATe! <l Tk 9 § ¥ Th
el g T Smar @ | fER e 99 H e @ 8 oTepfa-9 § foEm T E |
Ife el TT 1 el AT ST 8, o I U S1d 8 | 331 U IR @ Werdt
7 |

(i)  WTRehar 1 g Toh 38 a1 § | e g4 e Smom 2

(i) O 3 oA B | a1 g4 T S g, A 3ok S UM Sl TRk
F R, T fe T g 76 S § 209 & 8 @ 61 & 2

1.30/5/3 16
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30.

31.

Draw a circle of radius 3-5 cm. Take a point P outside the circle at a
distance of 7 cm from the centre of the circle and construct a pair of
tangents to the circle from that point.

In Figure-8, ABCD is a parallelogram. A semicircle with centre O and the
diameter AB has been drawn and it passes through D. If
AB = 12 cm and OD 1 AB, then find the area of the shaded region.
(Use n=3-14)

D C

—

A O B

Figure-8
Read the following passage and answer the questions given at the end :
Diwali Fair
A game in a booth at a Diwali Fair involves using a spinner first. Then, if
the spinner stops on an even number, the player is allowed to pick a

marble from a bag. The spinner and the marbles in the bag are
represented in Figure-9.

Prizes are given, when a black marble is picked. Shweta plays the game
once.

Figure-9

(1) What is the probability that she will be allowed to pick a marble
from the bag ?

(i1))  Suppose she is allowed to pick a marble from the bag, what is the
probability of getting a prize, when it is given that the bag contains
20 balls out of which 6 are black ?

gﬁ

17 P.T.O.



32. ufz foreht A % oW § @ 1mmaﬁﬁm§sﬁnﬁ%wmaﬁs
mmmiaw%|mm@m|

AT

T T shl ada 1y, 10 G T g & A T A o arferes B | i o
o aTg foar 1 7Y g 1 oY & G F 10 I A FAMT | IR FAuH 1Y
S HIT |

33. Teg3ll (6, —4) TAT (-2, —7) HI e A WES &l y-31& fohe @
TS st 8 2 39 Wiieag foig % Fesmes Wt 91d T |

AT

sy % g (7, 10), (- 2, 5) @91 (3, — 4) Tk wHfgaTg FHRT By W wid-fig
2 |

34, JfFae favTeH YHRERT ST TN Hieh quisy ok foREl gt qUiie 1 o,
Toreht quifeh q o T 3¢ M 3¢ + 1F ET R BT 7 |

Qs ¥

97 G&IT 35 G 40 T 9% J97 4 37H] FT & |

35. T o o AABAl hT INTHA 544 91 Hl. § | Ife 3Tk IATT § 32 HY. T A=
1, A1 1 a1 ehl YSTE {1 IR |
ot
T Hiewde, fmeht feer e # =t 18 ferdfi/arer 7, 24 fopdft e < wfispa S

H, o8l gl 9 o g TH hl U 1w A Al B | W sl =T {1
i |
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32. A fraction becomes % when 1 is subtracted from the numerator and it

becomes i when 8 is added to its denominator. Find the fraction.

OR

The present age of a father is three years more than three times the age
of his son. Three years hence the father’s age will be 10 years more than
twice the age of the son. Determine their present ages.

33. Find the ratio in which the y-axis divides the line segment joining the
points (6, — 4) and (- 2, — 7). Also find the point of intersection.

OR

Show that the points (7, 10), (-2, 5) and (3, —4) are vertices of an

isosceles right triangle.

34. Use Euclid Division Lemma to show that the square of any positive

integer is either of the form 3q or 3q + 1 for some integer q.

SECTION D

Question numbers 35 to 40 carry 4 marks each.

35. Sum of the areas of two squares is 544 m2. If the difference of their

perimeters is 32 m, find the sides of the two squares.

OR

A motorboat whose speed is 18 km/h in still water takes 1 hour more to
go 24 km upstream than to return downstream to the same spot. Find the

speed of the stream.

19 P.T.O.
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36. T=fafaa sffwel & U @ w7 YRR &1 9RO Gif9U | 37d: S¢4 1 ATETH

ITa IR |
Sl
- 0-10]10-20{20-30|30—-40|40-50|50-60|60—-"70
(ast ) :
. i 5 15 20 25 15 11 9
T .
AYAT

fre fean T sieq ues-feawiT fohene B 1, Tesmsil g fofu W feenel <t T
aurtar 8 | fo7u e forehel <h w1 Arew qen Aredsh J1d I |

IEETARC)
lii'@l'[:
TeaTsit i

1 .

20-60|60—-100|100 — 140|140 — 180|180 — 220|220 — 260

37. TUH Usted o R W 16 H. S qfd M g5 8 | Y & T fog @ 7fd
RRER 1 I HI1 60° 8 3R I fog @ Usted % R &1 IR ST 45°
2 | USEA il S8 T HIWT | (/3 = 1-73 TIWT hifS)

38. WEYE p(x) = 2x* —x3 —11x% + 5x + 5% & IS 5 A1 - /5 2 | I 9gIQ
% 3T T IIH T HIT |

AT

UG 2x3 — 3x2 + 6x + 7 H HH-H-HH T IS A T I IgIG x2 — 4x + 8
g QUi faHTia &1 STY ?
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36. For the following data, draw a ‘less than’ ogive and hence find the median
of the distribution.

A.ge 0-10]10-20{20-30|30-40|40-50|50-60|60-70
(in years) :
Number of | 4 15 20 | 25 15 | 11 9
persons :

OR

The distribution given below shows the number of wickets taken by

bowlers in one-day cricket matches. Find the mean and the median of the

number of wickets taken.

Number of
wickets :

20-60

60 — 100

100 — 140

140 — 180

180 — 220|220 — 260

Number of
bowlers :

16

12

37. A statue 1-6 m tall, stands on the top of a pedestal. From a point on the

ground, the angle of elevation of the top of the statue is 60° and from the

same point the angle of elevation of the top of the pedestal is 45°. Find
the height of the pedestal. (Use +/3 = 1-73)

38. Obtain other zeroes of the polynomial

px) =2

x4 —

x5 - 11x2+5x+ 5

if two of its zeroes are V5 and — /5.

OR

What minimum must be added to 2x3 — 3x2 + 6x + 7 so that the resulting

polynomial will be divisible by x2— 4x + 8 ?

21
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39. 10 9t F5A1 Al T S@EHR S H $® UM 8 | IFT H 9000 BT MATRR
T St 75§ S O H YOl 9 F TF TS & 9 G T TR S AT T 7 |
Ife g MR Te 0-5 It s <1 &1, a1 3 shifeie fob siaq ° url =1 &1
fepe et 7 |

40. I TRt By 1w yo1 & TR o= Q@ yeelt @ firE-fim foget w
gfaese i & fore weh Y@ it S, qf fig Hifie 6 3 o= 31 g wh &
rgara # fawfora & St € |
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39. In a cylindrical vessel of radius 10 cm, containing some water, 9000 small
spherical balls are dropped which are completely immersed in water
which raises the water level. If each spherical ball is of radius 0-5 cm,

then find the rise in the level of water in the vessel.

40. If a line is drawn parallel to one side of a triangle to intersect the other
two sides at distinct points, prove that the other two sides are divided in

the same ratio.

.30/5/3 | 23
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